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Fundamentals
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Write the output of the followin

£ code segment
void main ()

cout<<"the first "€<andl<<qrccgz o

cnut{{"th-"<<end.l<<"a.-."<-:1<< LCaTg”

whiat is the cutput of the following code segn.ent:
int main ()
{
for(int ==10,a>4;a=a-2)
cout<<a<<andl
_ }
4. write the output of the following program
void main ()
{int w, x , y:
wEx=y=2;
y++;
X2
wWE-=X;
cout<Ly<<"D"<<w<<"F"<<x ;)

write the output of the following program
void main ({
inta=0;
while{a<=6){
coutecaccendice” "
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wiite the output of the following Program

vold sum (i

int o fedb 8 int kb) Fun ghion
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a="7

b=9
cout<<a<<b<<c: }

void main () {
cout<<“”function’:
int e=4, r=5

add (e, r) :
cout<<ea<<r:;

%

I
" Part II: coding

write the program that display your name
write the program that display and jq;

= Sy
12
123
1234
write the program that display
1234
1234
1234
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e

", ByRef b As integer) As Integer

e Ll T N ——— .,-Jr

: . 0 J&ﬁ‘;‘_' P : 3 3
S e Al AR

Fheiiea A e e vy A e T A g H
What is the output of A, B and C. Using the above main procedure ...,
¥

RSt -y

3, Write the output on the box G

iy SR L e o Output
Function Sum(a As Integer, ByRef b As Integer) As Integer
Jin sum=a+bh
e a=66
b=3
End Function
i 23

What is the output of A, Band C. Using the above main procedure

]

:
Scanned by CamScanner



